Table 1. Annual Reporting Burden 2019-2021 (CURRENT REQUEST)						
Section	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$288/hr
71.5(b)	1	1	1	100	100	\$28,800
71.7(b)	5	1	5	1	5	\$1,440
71.12	1	1	1	300	300	\$86,400
71.17(c)(3)	20	1	20	1	20	\$5,760
71.31	25	2	50	300	15000	\$4,320,000
71.33						
71.35	Included in 71.31					
71.37(a), (b), & (c)	05	0	50	0.0	4.000	#4.450.000
71.38 (c)	25	2	50	80	4,000	\$1,152,000
71.39	25	2	50 Included in	110	5,500	\$1,584,000
71.41(a)&(d) 71.47(c)	Purdon cov	ered under De			olograpae #	0127 0150
71.87 (f)	Bulden cov	ered under De	Included in		i cicaranice #2	2137-0130
71.93(c)	1	1	1	1	1	\$288
71.95	25	1	25	24	600	\$172,800
71.97(a), (b), (c) & (d)	7	2	14	0.9	12.6	\$3,629
71.101(c)	1	1	1	120	120	\$34,560
71.101(f)	2	1	2	16	32	\$9,216
71.103-71.105	Included in 71.101 (c)					
71.106(a)	4	1	4	40	160	\$46,080
71.106(b)	30	1	30	2	60	\$17,280
71.107-71.137	Included in 71.101 (c)					
Appendix A, II.(c)	25	0	0	20	2	\$576
TOTAL			254.0		25912.6	\$7,462,829

Table 2. Annual Recordkeeping Burden 2019-2021 (CURRENT REQUEST)					
Section	No. of Recordkeepers	Annual Hrs. Per Recordkeeper	Total Annual Recordkeeping Hrs.	Cost @ \$288/hr	
71.19(a)(3)	0	0	0	\$0	
71.85(c)	Included in 71.91(d)				
71.87(e) & (f)	0	0	0	\$0	
71.91(a)	200	20	4000	\$1,152,000	
71.91(b)	25	18.5	462.5	\$133,200	
71.91(c) & (d)	225	0.5	112.5	\$32,400	
71.95(a)(1)	No recordkeeping requirements (included on reporting table)				
71.95(a)(2)	No recordkeeping requirements (included on reporting table)				
71.97(c)(4), (e) & (f) 71.101-71.137	Burden covered under Section 71.91a				
TOTAL	225		4,575	\$1,317,600	

Table 3. Annual Third Party Disclosure Burden 2019 - 2021 (CURRENT REQUEST)						
Section	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$288/hr
71.19(a), (b), & (c)	Included in 71.85					
71.22(d)	Burden covered under Section 71.85(c)					
71.23(d)	Burden covered under Section 71.85(c)					
71.47(c)		Burden covered under Section 71.31				
71.85(c)	25	4	100	1	100	\$28,800
71.87	25	1	25	1	25	\$7,200
71.89	Burden covered under under Department of Transportation's OMB Clearance No. 2137-0150				No. 2137-0150	
71.97(a), (b), (c), (d), (e) & (f)	7	1	7	0.9	6.3	\$1,814
71.129(a)	0	0	0	0	0	\$0
TOTAL			132		131.3	\$37,814

	TOTALS FOR PART 71 RENEWAL (2019-2021)				
_	Responses	Burden	Cost at \$288/hr		
Reporting	254	25912.6	\$7,462,829		
Recordkeeping	225	4,575.0	\$1,317,600		
Third Party Disclosure	132	131.3	\$37,814		
TOTAL	611	30618.9	\$8,818,243		

Licensee storage costs \$ 527

NRC staff time \$ 4,665,600 NRC report processing \$ 972,000 TOTAL costs to Fed gov't \$ 5,637,600